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Syllabus for Uchcha Madhyamic Paper I1 STET 2023
Unit I Subject Chemistry 100 Marks

Physical Chemistry

Unit-1
Unit-2
Unit-3
Unit-4
Unit-5

Unit-6
Unit-7
Unit-8

Gaseous State Van der Waals equation of state ® Relationship between critical constants and Van der Waals constants
e Root mean square e Average and most probable velocities e
Solid State Derivation of Bragg equation e Determination of crystal structure of NaCl, KCl and CsCl e
Chemical Kinetics and Catalysis Concentration dependence of rates ® Mathematical characteristics of zero order, first order,
second order, e pseudo order, half life and mean life. Effect of temperature on rate of reaction, Arrhenius equation e
Expression for the rate constant based on equilibrium constant and thermodynamics aspects. Classification of catalysis ®
Colligative properties of dilute solutions The thermodynamics derivations of Rault’s law relative lowering vapour
ressure, osmotic pressure, elevation in boiling point, depression in freezing point.
hermodynamics Calculation of w, q, dU e & dH for the expansion of 1deal gases under isothermal and adiabetic
conditions for reversible process. Hess’s Law of heat summation, Heat of reaction at constant pressure and e at constant
volume. Enthalpy of neutralization, Bond dissociation energy e Gibbs function(G) and Helmholtz function (A) as
thermodynamic e quantities Variation of G and A with P, V and T.
Chemical Equilibrium Equilibrium constant ¢ Le Chatelier’s principle
Phase Equilibrium Degree of freedom e Derivation of Gibbs phase rule, phase equlibria of one component system
Electrochemistry Specific conductance and equivalent conductance ® Measurement of equivalent conductance, variation
of equivalent and e specific conductance with dilution. Arrhenius theory of electrolyte dissociation Ostwald’s dilution
law e Nernst equation, derivation of cell E.IM.F and single electrode potential e Calculation of thermodynamic
quantities and cell reactions (AG, AH and K)

Inorganic Chemistry

Unit-1

Unit-2
Unit-3

Unit-4

Unit-5
Unit-6

Unit-7
Unit-8

Atomic Structure Quantum numbers, shapes of s, p, d orbitals ¢ Aufbau and Pauli exclusion principles, Hund’s
multiplicity rule e Electronic configuration of elements e Schrondinger wave equation, significance of wave function
Periodic properties Atomic and ionic radii ¢ Ionization energy e Electron affinity and electronegativity
ChemicaFBondin Various tgﬁes of hybridization and shapes of simple inorganic molecules o and ions. Valence shell
electron pair repulsion (VSEPR) theory of NH3, H30+ , gF4 e CIF3 Homonuclear and heteronuclear (CO and NO)
diatomic molecules ® Radius ratio effect and coordination number e Lattice defects ¢ Semiconductors e Fajan’s rule e
Hydrogen bonding , Van der Waals forces

S, P B%ock Elements and noble %ases Comparative study, Salient features of hydrides of s block elements e Hydrides,
oxides, oxyacids and halides o froups 13-16, hydrides of e boron- diborane , borazine, fullerenes, fluorocarbons,
Interhalogens. Structure and bonding of xenon compounds.

Chemistry of Elements of Transition series Coordination numbers and geometry of first transition series ® Magnetic
behaviour, spectral properties of second and third transition e series.

Coordination compound Isomerism coordination compound e Valence bond theory of transition metal complexes.

e Chelates o Crystal field splitting in octahedral, tetrahedral and square planar e complexes. Types of magnetic
behaviour of transition metal complexes. ® Electronic spectrum of(ETi(H2O)6i)0 3+ complex ion.

Acid and Bases Arrhenius, Bronsted-Lowry, Lewis concepts of acids and bases.

Environmental at bio inorganic chemistry Ozone Depletion, Green house effect, Acid rain, smog ¢ Haemoglobin,
myoglobin and nitrogen fixation.

Organic Chemistry

Unit-1

Unit-2
Unit-3

Unit-4
Unit-5

Unit-6
Unit-7

Unit-8

Unit-9

Unit-10
Unit-11

Structure and Bonding Hybridisation , bond lengths and bond angles, bond energy , localized and delocalized chemical
Eongz Van der Waals interactions. Resonance, hyperconjugation, aromaticity, inductive and field effects, e hydrogen
onding.
Mechanism of Organic Reactions Types of organic reactions, Reagents- electophiles and necleophiles ¢ Reactive
intermediates- Car%ocations, carbanions, free radicals,  carbenes, arynes and nitrenes.
Stereochemistry Molecular chirality, optical activity, enantiomers, chiral and achiral e molecules with two stereogenic
centres, diastereomers, meso compounds. D & L and R & S system of nomenclature Geometrical isomerism in
alicyclic compounds
Alkane and Cyclic molecules TUPAC nomenclature , Isomerism and alkane, Wurtz reaction, Kolbe e reaction, free
radical halogenation of alkanes
Alkenes, Cycloalkenes and Dienes and Alkynes Mechanism of dehydration of alcohols , dehydrohalogenation of alkyl e
halides, Saytzeff rule Electrophilic and free radical additions e Markownikoff’s rule, hydroboration-oxidation,
Epoxidation, ozonolysis, ® hydration, hydroxylation and oxidation with KMnO4. Substitution of allylic and vinylic
positions of alkenes. ® Polymerisation, Diels-Alder reaction. ® Reaction of alkynes, Hydroboration-oxidation, metal -
ammonia e reductions, oxidation and polymerization.
Arenes and Aromaticity Aromaticity and Huckel rule , Birch reduction
Alkyl and Aryl Halides SN2 and SKJI reaction, The addition elimination and the elimination e addition mechanisms of
nuc?éophilic aromatic substitution reactions. Synthesis and uses of DDT and BHC.
Oxygen containing molecules Classification and nomenclature of elements. ¢ Methods of formation of monohydric
alcohols and their reaction ¢ Chemical reaction of vicinal glycols, oxidative cleavage [Pb(OAc)4 and HIO4] and pinacol-
pinacolone rearrangement. Comparative acidic strengths of alcohols and phenols. e Electrophilic aromatic substitution,
acylation and carboxylation. e Fries rearrangement, Claisen rearrangement, Gatterman synthesis, e Reimer-Tierman
reaction. Nomenclature of ethers and their formation. ¢ Synthesis of aldehydes and ketones ® Mechanism of nucleophilic
additions to carbonyl group, benzoin, aldol, e perkin and knoevenagel condensations, wittig reaction, mannich reaction.
Oxidation of aldehydes, Baeyer-villiger oxidation of ketones, Cannizzaro e reaction, clemmensen, wolff-kishner, LialH4
and NaBH4, Halogenation of enolizable ketones. Preparation and reaction carboxylic acids and their derivatives, o
mechanism of decarboxylation, reduction of carboxylic acids. Mechanism of esterification and hydrolysis
Organic compound and nitrogen  Structure and nomenclature of amines , separation and mixture of e primary,
secondary and tertiary amines, basicity of amines. Reductive animation of aldehydic and ketonic compounds,
Gabrielphthalimide reaction, Hofmann bromamide reaction. ® Reaction of amines with nitrous acid, aryl diazonium salts
and azo e coupling.
Organometallic compounds Grignard reagents-formation, structure and chemical reactions
Heterocyclic compounds Pyrrole, furan thiophene and pyridine- methods of synthesis and e chemical reaction,
comparision of basicity Preparation and reactions of indole, quinolone and isoquinoline — Fisher e indole synthesis,
Skraup synthesis Unit-12 Bio molecules Monosaccharides, osazone, Erythro and threo diastereomers, maltose, o
sucrose,lactose and starch Acid-base behaviour of amino acids, constituents of nucleic acids,  double helical structure
of DNA. Unit-13 Fat, Oils and Detergents Glycerides, unsaturated oils, sa%oniﬁcation value, iodine value, soap and e
synthetic detergents. Unit-14 Synthetic Polymers and Dyes Natural and synthetic rubbers, polyeters, polyamides, phenol
o formaldehyde resins, urea formaldehyde resins and Zeigler-Natta polymerization. Chemistry and synthesis of methyl
orange and phenolphthalein, Alizarin and indigo.
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1. The Vander Waal's equation explains the
iRt feRech

behaviour of/aTUST dTcH <ht

FIER hil SHTEIT AT §—

(a) Ideal gases/fl:l'l?«’&’]t g

(b) Real gases/arEiiess T4

(c) Vapour/arsad

(d) Non-real gases /3faT&dfes T
Ans. b) AT 19 1 R 3R 19 R Fafid
FT 3 gRT AT T SEAA 9 el S
Edl @Wn H qﬂm?%w
It 19 F Feiiwo-

(P+%J(V—nb)=nRT
%
gfe n=1 9

(P+%)(V—b):RT

31d: e N H GHHT—

PV = nRT

n=1
TOfT avel areq o Gl el Y g S
AT HT B

2. Gases deviate from the ideal gas behaviour
because their molecules. , g
W formfera &t St § wiifen 3oh TuT—

(a) Possess negligible volume/T0d HAET § 1
(b) Have forces of attraction between them
3% A IHI0T A 7
(c) Are polyatomic/dIgqTHIIIH g
(d) Are not attracted to one another
Th T % e A T 2
ns (b) : 79 F e § ey 19 & FA9eR I fodter @
T & i o SIS 3 AT ST e U A B
3 et A9 & ﬁtri%ifaﬁ &
1. W%W%%Hﬁwwwm%
2. oTaet 9 # STisT H A UH % Ead # g
# T B 7
3. omayl i % oqupsd # e ae T A 2
3. According to Boyle’s law the volume of a fixed
mass of a gas, at constant temperature, is
%‘atr & AR feer qmume W | ®
ﬁrf@aﬁ TS| T AT il §—
(a) directly proportional to its pressure
EEl

(b) inversely proportional to its pressure
EEl

(c) the square root of its pressure

& F B 2
(d) none of these/3TH T I el
Ans. (b) : 97acH & faW & SFER-Fer @w W Rl T

% Ffed 90 % oI & % SIHAId e €,
araet &1 o aeyt 19 & <@ 3R SEad S adid 8|
Poci (e A9 W)
v
P=2d
V = g

PaﬁI%%WE}Tﬁ@—W

1

P

|
e

Ay
square deviation is

The root-mean
called.....

ot wrem ger o faaer SRt et War g
(a) Mean deviation/dTed fa=rer

(b) Standard deviation/AHe farer

(c) Quartile deviation/aqde® fome

(d) None of these/3TH T &g el

Ans. (b) : a7 qET qeT = 3R—T I &

e aﬁmww%ﬁﬂwaﬁwﬁamww%l
&,
R =g s
T = dm9H
M = SR
5. What does ¢ 0 ’ represent in Bragg’s Law ?
T % frem B O = gt &7
(a) The angle of incidence of X-rays
THE- T AT HI0T
(b) The angle of reflection of X-rays
T % Hfafda @
(c) The angle of diffraction of X-rays
T F faEda @
(d) The angle of refraction of X-rays

also

>

THH-2 T 3Ted HI0T




Ans. (a) : 7 &1 fEU-af% 5t ffea & @ sarm
TURR dell & e F gl d @ e ai ds o @
THavll T RO 39 dd W gREdl HUT @ W Safd

& @ Hart e % T S % SEn-
e, n=1,2,3,.....

37qT: ST T Pl S H GBI FEd &

T wHreRuT S Feafa—am 6 e § g
U 3T ard dell W figm @ W CC' @ DD &
AR fheda 7 € e & 3t g sl swaue o
21 W 5 e ) F1 Al X-fRT o g sy
0 T fF=dia qal W i 2

A=MB + BN
MB = BN = dsinf
A = dsin6 + dsin6

=2 dsin®
A=nk .........
. (1) 3 (2) ¥

2 dsin® = nA

6. X-rays have larger wavelengths than which of

the following?/UeFa-Y ¥ aam dedf &t
frrefeafaa & @ ferad atfires gram 87

(a) Gamma rays/THT foput

(b) Beta rays/sieT fohui

(©) Microwave/ATgshiaa

(d) Visible light/STIATT JehrT

Ans. (a) : THE-X &I q07 <& & @R 10 T 9§ F4,
AR ST 0.01 TIH § Afer o gl §, TRt A
TS 1895 # UF wifvst a9 feew Jdesq 7 # o,
M- § e geed WeeT # A g99 F9 e
2| TEhed § Yt e & g # 1 firf siw 30
et ot T e Bl 2
7. Minimum interplanar spacing required for

Bragg’s diffraction is: /g"T EQ ED '%I'Q‘

TAYIF =AAH TR R &

(a) M4 (b)y A2

(c) A (d) 2A
Ans. (b) : 5T & 199 % 3R,

2dsin® = nA

ST O T TAEH F Tl & WY S T Saf T
1 fEaE A 0 = 90° & el 2,

e n=1 Zd:nk:d=%

8. The study of reaction Kkinetics is called

AFTeRaT Tiferant o TLTAT T el ST &—

(a) Rate of reaction/3TfshaT & =X
(b) Mechanism of reaction/31fsham 1 &
(c) Factors which affect the rate of reaction

afufspan &t X i JAIfed A ATt FRE
(d) All of the mentioned/3da # ¥t

9. Plotting a graph between temperature and

reaction rates can reveal the temperature
dependence of reaction rates./dTqHTT

I 22 o ofier Ueh W oA | Srfferan
T aruET fredear s uar = geRdar g
(a) Concentration of reactants and temperature
[ SR ATgme & w

(b) Concentration of products and temperature

Il SR ATIHM L HSdl
(c) Rate constant and temperature

TR i 3R qHH

(d) Rate of catalysis and temperature

& IST 3N A9HE H &

>

ns. (c) : AMAMHAT a7 I a9 feiar aga & Affspand
F gfe & T afRa B ¢ o T8 urn T i et
%ﬁ%mﬁwmq@ﬁ%ﬁm@ﬁw
|
g & a9 | e & s it 9
Toli-4ify & ST Gdt § TH TAuYH WEA S, TH. ave
g 3wt foham o foeg wiied & wree e %
TheH Hifeh oo o gfadre fhan
Ker—Ea/RT
ot e gl § wRe e PURT, Ba 9 wifas Sl
oS S A T S A

InK= —Eln A
RT

3

B

In K € 1/T % #& sh Hefiaot

InK—

WTIW.%wﬁﬁgﬁW—

anI:—&HnA
RT,
R AT T, |
anzz—EﬂnA
RT,
3 K, 991 K, HUS: a9qE T, 941 T, W a7 Reris

%_ ll’le — lIlKl = Ea Ea

RT, RT,




X2 _ E{L _ L}
K, R|T, T,

K, Ea [1 1

log—= = ———
K, 2303R|T, T,

A radioactive decay is always considered as

&1 Y T SATAT §—

(a) Zero order reaction/S[= HifE H TfufsaT

(b) First order Reaction/Se =hife st sifufehan

(c) Both the above/3"1’{[7ﬁ gl

(d) Second order reaction/fgdar Fife i rrufchar

Ans. (b) : 39T HIE & & H THHWOT 7 JHR T forar

10.

ST R
2303, [R],
K=o g
[R], Kt
&R ~ 2303

I STl Al & Wt wpfod qur $hm T
(fzarefea) & 59m Fife & Torad & g ed &

4
556 Ra——> He +§§2 Rn

ty = =
The ratio of the rate constant of a reaction at
two temperatures differing by °C is
called temperature coefficient of reactioq.

11.

w & Ea)
U °C ST A(AHAT T ATIHH 0TI
HE ATET 8
(a) 2 (b) 10
(c) 100 (d) 50
Ans. (b) : freft Tt sifufwar i & 10°C @9 3fg &
o Repiss # @ 3 S 81 e R gere %
e # 3fE g Ea ¥ 31 el g W HeeE
AT s 1 e & A ¥ i ad @ o ww § f
b H (t+10) AIIH W GHAT ol AT THY ARFH st

T UL Hef¥id FH At &Ewa T & A
S 21

g2 & (- Ly diy uy

il e e

e AU F T §

sxfuferar <9 & 919 o
Torefa gorian gam @

12.
depends on/dg
el T §1

(a) The total number of neutral species in the

solution/fer # IerEH Sfaa s el He

(b) The total number of ionic species in the
solution

fqerem | smafie wenfoai &t g den

In a dilute solution, any colligative property
T @i i STUHEAT T[0T

(c) The total number of species irrespective of
whether they are ionic or non-ionic.
F oI T 91 o D & AT -
(d) The types of forces operating between the
non-ionic species, ionic species and the
solvent molecules
foramass stupeii & o9 FrEiE adl & TER
Ans. (c) : T foer@m & svHer qored foee 7 3uftem
U P e W AR BT ¢ ST STEE e o
STt foeam & faore gerd & o1vps & s U feR S
21 o foora ward % @i A STusi A STl @ Hen
a1 T R AR e 2
13.

Molarity of a solution is expressed as:/Uch
ToreTaT Al HieRar & &0 § e feram STt 81

(a) the number of moles of a solute present in one
litre of the solution.

T oie? foerad ¥ ot & Al & e

(b) the number of moles of a solute present in
1000 gm of the solvent./fS@m™% & 1000 IH
¥ Iufterd foera 1 A@rel # @

(c) the number of gram equivalent of solute
present in one litre of solution./Ush
foerem o 3ufteqd oM qoaiel & g

(d) the ratio of the number of moles of solute to
the total number of moles of solution.

foeem & 3o Aral @ g faom & A
@ % YA % SR A
Ans. (¢) : HieRdr—1 ofiex foeem § sufteq faoa & I

ST # e H 3 e i Herdl el ¢ |
fererer st Hrefl sl He
Hrewdr =
M~ e 1 o A A
14.  Which one _of the following is not a colligative
property? -9 Ueh T
Trurerd = 272

(a) Osmotic pressure./JUHIOT
(b) Elevation in boiling point./FeHi® § I~a-
(c) Freezing point./Gish forg

(d) Depression in freezing point.

feiss forg # svaeA

Ans. (¢) : 98 a9 9 W &l 53 # 59 9 39 I
SFeell H arIa™ GHH @ ST § df 98 %9 1 feHi
forg e 8, Al fewis farg sEea ored W faefRk
& T B

af: fewis 1 stEEA St e Wi s @
T I8 W g 6 W & FEAHER 59 T sramasfia
319 foreirass § <o Sar 81 d faeiiass &1 aree &9 &l
ST 8 3R 379 SHH aTed 39 el % areE &
SRR 2 ST 8

o T, s fees @ R g e o sud
srammfict fetd e @ A9 ue femis g T, 21 o
femies & S T, T, % SR T

1,1 < fo o e




15.  The enthalpy of formation is nonzero for

I TR /T FT—

(a) O, (b) Cu

(c) Os (d) H
Ans.(c):aamaaauﬁrwaawﬁéﬁ%,aﬁsﬁ
HeH del § UH AE & | 4 & R & fow weed

Red 21 @ 3 9§ a9 % wed e w7 F A &
T I I O 71 3 "0," IS # e
ﬁwﬁmaﬁﬂﬂm%wﬁﬁwﬁm%l

16.

The enthalpy of an exothermic reaction
Tk SoATadt afTferam o Tiet €1
(a) Is always Positive /99T &S BIT 2
(b) Is always negative/8H9T FUTHE BT &
(¢) Is always zero/gHET NG I &
(d) May be positive or negative
YT A1 TS & Fobel 2
Ans. (b) : FIMEG SAMAGHAT d8 AARAT B TS
TqEtE ettt § e sl g 2, a1 %
et iR wedl 2
3 TR (AH) SH FOTHb BIaT 2|
S=Hy( ) +Cly,,  2HCI(g) AH =—44.0 k cal.

17.

Helmholtz free energy is called
TCHEICES Yo Srll ehgetTal §—
(a) Power function/3TferT Here
(b) Work function/& Haem=
(c) Gibbs function/fTed Hae™
(d) None of these/gTH T Hig T
Ans. (b) : 5t frr @ s Sl ST g
SyArdt & % w9 # uRafdd fhen s @ At @
I Fell ded &
dG =-SdT + V.dP
P=3d, G=f=q g Fel, V= 3=, T = aoae
S == & Tl

18. At a certain temperature,
dissociates into H, and I,.
constant is

AOHE WX HI T 50% H, 37 I, &
ﬁ:raﬁ?ra’r AT &1 A Ao feris -
(a) 1.0 (b) 3.0
(c) 0.5 (d) 0.25
Ans. (d) : & 2-
2HI  H,+1,
I a 0 0
9T o - 0.5 0.2500.25a

o [ma]0n]

P

_ [0.250]x[0.250]
[O.SOL]2

2
0.06250. —

0.250.°
37 9 Rl k, = 0.25 3

[Exsi]
firsg

50% of HI
The equilibrium

¢ =

19. According to Le Chatelier’s principle, adding

heat to a system of solid and liquid at
equilibrium will cause the/ﬂT—FTl‘ﬁ%'rE

fagra & gER wrETETer WA Y v
i JUTET FEAT BT TG e R Ee 2
(a) Amount of solid to decrease
3 I WA A Al @
(b) Amount of liquid to decrease
T S AT HH BT
(c) Temperature to rise/dMqHIT TG
(d) Temperature to fall/aTaaT &
Ans. (a) : TT-IMATAT AT Tagra—{Ha ammeen
a9, @, WU, 3MEeH oMfE H uRadd fear S
greaEe T e & oRafda & o @ fad R
G|

-

TS B T B |

BET St FEl W FTdr o aTd s qEre-a

foeRM a9 W I ST Bk 8 v

SRS B § UH 36l & o ad s W

2 ifs a9 aem 9 o7 SR SfE B 2
ELS

FifR 9% H HTAT S & TG G 3R BT B 3

ST g # g s 9 37 fufRar (9 & St §

Red) 3fies gnfi qer 9% &1 e g e

20.

i

i

T d¢

In a reversible reaction, if the concentration of
reactants are doubled, the equilibrium constant
K will

Tk Iehuvfitar Srfufshen o afe S1iireRment ot

[IFAT ST &Y AT § 9 Wgers K 2

(a) Change to ¥4 K/%4 K ¥ agat

(b) Changeto 2 K/ K ¥ wed

(c) Change to 2K/2K ¥ et

(d) Remain the same/SHIT w©m
Ans. (d) : TF Schuulia sifufear & & gard dqeq & 8
4 a&@uﬁmaﬁwﬁﬁaﬂﬁmﬁwm
T @

3aEUT— H,+I1, 2HI
(1]’
k==
[H,][1,]
k. = 9= feeri®
21. How is the distribution among two or more

phases at equilibrium determined by?
IO W R AT W T %
feravor & frerifia feram ar €2

(a) Application of entropy/T=ZTdl ?:F\{SI'ZI\T’T

(b) Application of Newton’s laws of motion
A & T & fret B S
(c) Application of Gibbs free energy
firsq g Eal
(d) Application of force/sIeT bl ?:Fjﬂ?ﬂ"T
Ans. (¢) : IR W I A1 & ¥ 3IRE WO F o H
fereroT fireq T it bl SFIANT e feifRa fham S 21
o feom A @@ R B 9§ U a @ ST B
H & U e sifwad St @ sy qo o @ad ¢ |




Sel, G=H-TS

H=d= 3 Tl

T ="k & & ol a9 &

S =d= & T

22. At equilibrium the total Gibb’s free energy for
all phases is/ATEITEEAT WX Gft TRUN & foQ
firew gart &t T Sl et 7
(a) Minimum/=[d  (b) Maximum/3{f&ehaq
(c) Infinity/3T9-1 (d) Zero/I[A

Ans. (a) : GrETERd | 9 IX0T & fAU fed geq we

F UM A/ @ Ol g1 o fisg Sl

T el et B

I AG FooTes ¢ o ffpar T yafdd e S @

o o faen & g et 7

IME AG IS 8, a9 Al w: yatdd 48 e, A

AG T @ a1 Sifufhar S Sty St

AG=AG°+RT In Q
GrEET W AG =0 27 Q =k,
23. For a liquid-liquid case,
equilibrium ratio?/Sd-3d
HTEITEERT ST TTUT ST &2
(a) Ratio of mole fractions of species in two
phases at equilibrium/HF=ITTEIT YT 3 Ol A
Sl o HiA SR HT S

(b) Ratio of distribution or partition coefficient
feraeor &1 erqurd & fawreH Tt

(c) Ratio of equilibrium constant
e fRedieh 1 ST

(d) Ratio of heat of supply
ST o SATYf T ST

Ans. (b) : 9t &3 # faws T (P) & faaor oTish

(D) §qeH W & gl i & g &1 o 2

ST I8 IO 39 & WA uer § faos &

Eil F T 8 | IS e AR W AT @ e

Yool o U U B Gahfd e 81 &
foreor T e % Wt yenfaat (st A st

what _is phase

T

THIIAT ST Bl FERid e

24.  Which of the following _is incorrect at
equilibrium? -|r
AT & T T g

(a) There is no net transfer of electrons, so E = 0.
TAFEHI B HE Y5 RO TE gHfeT E=0.
(b) There is no net transfer of electrons, so E° =
0./5aTl &1 1S TG M Tl
E°=0.
() Q>K.
(d) Q<K
Ans. (b) : 3AYHRH
stffsan &t faem =t
IFT AT S @
T F 2
e fepis # & we ofufear area @
sfufrar # fedt off fafs & fau wRafim Q. (Arew

Td 3E & foRd SAfulhar-myo §
T o | off gremaen fRegs &
g% fau g9 il amee &

TET) 3R Q, (37 @) fhar ST wehdr @1 Sffea-
TEA Q, T k, & HHI b T Fih fufshan faem &
Y HE T 3T 2

. $(§0<kcg}aﬁﬁza@maﬁﬁaﬁaﬂim
|
. $§C>kcﬁaﬁﬁzaﬁﬁma’r§ﬁaﬁaﬁiwﬁa
|
3 Q, =k, & a1 ¢ rfufshan T& &eft 31
25.  Which of the following relation is correct?
{ & SiF-T1 He wE §?
(@) F=Qn (b) n=Q
() Q=nF (d) Q=n2F
Ans. () : Q = nF o T Tl & |
Q = AffRaT rTHa
n=%@1w31f¢rmﬁséaa=ﬁaﬁﬁw
F =g fRemis
26. The unit of specific conductance (k) is

fafdTes =rreteRaT (k) TTS &—

(a) Ohm cm/3TH T4,

(b) ohm™ cm’'/zTH ! Tt

(¢) ohm™ /3! ft,

(d) ohm cm’'/2 gi.!
Ans. (b) : fa¥re =rewa fafire sfy & s &
fafiTe =rerhaT & &9 § f S S0 € 59 o g awa
@rg?aﬁis’qa%s.l.saﬂéqﬁlﬂaxﬁﬁawaﬁtrl T
g1

27.

What is the increasing order for the values of

e/m for/e/m <hT AT ST ST ShH HIA-HT —
(a) e,p,n,0 (b) n,p,e,a
(¢) n,p,a,¢e (d) n,a,p,e

Ans. (d) : ¢/m &1 9T 5 99 n, 0, p,e e 21 Forad
T g 3R WeM & SEy IRANT §HE Bl &
S W HE AEY T BT @ Tk STH B F TH

S § AT |t g 2
28. Atomic number of an atom will be
forwt TRmTUy T URWT] ShHiER BT

(a) Number of electrons./cia2 11 a1 AT
(b) Number of protons./ST2i41 s AT
(c) Number of electrons and protons.
e S o
(d) Numb:%)f protons and neutrons.
N g
Ans. (b) : foRET M F SIS 1§ 1 GH0] A
F S & SR AR FH W A F A AR e A
Rl WA % SR B & | 3: WH] ST
7§ yeiia & &1
TEAI] AT = Wl &l He
Nickel has atomic number 28. The correct
electronic configuration is
frrer &1 ;{wg THIR 28 ¥ W THAT WAl
3éagllilm |
(a) 1s®2s* 2p* 3s% 3p* 3d"°
(b) 1s* 2s* 2p°® 3s” 3p° 3d* 4s°
(c) 1s® 25 2p* 3s” 3p° 4s’
(d) 1s*2s* 3s? 3p® 3d"°

29.




Ans. (b) : Ni(28) = 1s” 25 2p°® 3s” 3p° 3d" 4s”

SREI
Ni (28) = [Ar]3d® 457
a: faeed (b) 98 21
30. According to Moseley, a straight-line graph is

obtained on plotting
T T ek Hieft @ w1 T 9w e

(a) The frequencies of characteristic X-rays of
elements against their atomic numbers.
i @ T g & faws fafire et &
e |

(b) The square of the frequencies of characteristic
X-rays of elements against_their atomic

numbers /T I TAN] HEA & fows faftre
TFE-3 F ngfedt s e

(c) The square root of the frequencies of
characteristic X-rays of elements against their
atomic numbers ! I ST & faws
fafere w3 i smafcai & ariga

(d) The reciprocal of the frequencies of
characteristic X-rays of elements against their

atomic numbers TJJ:ITU:L e & faesg
fafire et & sgferEl @ o
Ans. (b) : TS & EH 3 g SedrSid g At
%rﬁrng—ﬁmﬁ%%mﬁ 1 Tt &1 T R
ST B
o WEA F W wed ¢ swfid - &t
TgfT 1 TS TRAV] HEAT % FEAT® B 2 |
Jv=A(Z-B)
78 wFg-fRl emgfe 2, Z W] e ? A SR B
fRoriss 21
31.

The tenth element in the periodic table resides
in: /109 T e
(a) the second period /ﬂﬁi 3 §
(b) the fourth period /ﬂ@ﬁf 3ad o
(c) the fifth period /9Ted 31ad &
(d) the eight period /3739 T/ad |
Ans. (a) : ST % 89 S0 ¢ Ued oTad § 2 ad o @
S gE e § 8 A & £ 108 a g IEd %
A BR W Iufem g 8 S 6 T iR 1 8 o
g9 8 Tohd ¢ % 1081 d orad groft § g@ emad
Sufeafe g 2
32.  Which of the following order is not in
accordance with the property stated against it?
{ & -9 e
TS U1 o ATET T 2
(a) F>Cl>Br>1O0Oxidising Power
F > Cl> Br> [ ST &we
(b) Hl > HBr>HCI] >HF Acidic property in water
Hl > HBr >HCI >HF [ § 37 07
(c) F>Cl> Br>1I Electronegativity
F > Cl> Br> 1 fogd Fomeehd
(d) F> Cl>Br>IBond dissociation energy
F > Cl> Br> | & ggahtv] e

Ans. (d) : TANH IRER § W § 99 1 W a7 SHel
F1 %5 C1>Br>F > g1 81 31: fased (d) o &l
33.

The correct order of increasing electron gain
enthalpy with a negative sign for the elements
0O, S,F,and Clis :

@t 0, S, F 3R Cl & fow smumeass foe &
T T T Tt oI ol Tt /W -
(a) CI<F<S<O (b) O<S<F<(l
(c) F<S<0O< (d) S<O<CI<F
Ans.(b):WWﬁ&ﬁ@ﬂﬁWWSﬁﬁ@?ﬁ%&
Tl gEd @ T IR F AW Ted W goaeH AR
el sl ] 1 S C1 1 EA, F 1 qofl § Samer g @
Sl S # EA, O &1 qeil # el g @ it O 3K F
F AFX TG DT B § IWAT AR FoELH A
T o W B 8 ST THH T HH T N o

O <S<F<C(Cl

e IR g IR fEheq (a) = me B

34.

The maximum number of 90° angles between
bond palr-bond pair of electrons is observed in

& S-S T & o Tfehan
90° 3 wHuT F@ ST
(a) dsp” Hybridisation/dsp” HeoT
(b) sp°d Hybridisation/sp’d ST
(¢) dsp® Hybridisation/dsp® He<0T
(d) sp°d’ Hybridisation/sp*d” GeTuT
Ans. (d) :

dsp’ TR F - g
% d= TE 90° & FET H07

sp'd AT dsp’ BRIOT T IH-E q
& wl| 6, 90° F FHT H

sp'd” HEIUT W - I
& A 12, 90° % FH &
The shape of the molecule depends on the

35.

70T T 3TMeRR TefX ahteT &—

(a) adjacent atom/3TTH~T GIATU]

(b) valence electrons/Tsft o1
(c) surroundings/tlﬁé'ﬂ

(d) atmosphere/dTdreuT




Ans. (b) : VSEPR g & o/ar ot o ey &
BN 3R MHA 3GF doig goag@ R 44Tz 21
36.

In NaCl crystal, the radius ratio is :

NaCl ¥ freen srure §—
(a) 0.4 (b) 0.98
(c) 1.0 (d) 0.52

Ans. (d) : T% WS foeed et & Brsan s &
YA AT H GHEE G AR A Srel § At

I e &t wfesgamtt & forg fan S §
Preen srgue | wweE oot =t wfarfer
& (Tt )
0.155-0.225 3 i Taaa
0.225-0.414 4 HTHAbId
0.414-0.730 6 STESTHR

qifeam FAEe foied § FAgs EHl $l 9dg hisd
T e B 2 | ifSTH SR A Gas RiFda §
HioE 2 &1 SIS FfEaw e 6 FiNiEgs e 4 R
B 8 T9% FANES A 6 Hitegd e 9 A g
31 o Gifedd oAEE @ gREd @' 6§ 39 WER
FAN & G §E 6 7

frsan oqua fo & STUR 6 & T §E 0.414-
0.732 % fioan orqum & ot @t © g% & T fasedt #
¥ 0.52,0.414-0.732 & dir § 21

37.

Which of the following is Not a structure
insensitive property? ¥ w-r
HEET SrAgaier ur A &2
(a) Elastic modulus [ATERR AT
(b) Melting point /T
(c) Coefficient of thermal expansion

g foar &1 Toris
(d) Electrical resistivity/%\% SfeRIerehaT
Ans. (d) : S¥ER WG, Todih N gid R &
T A w S 7 @1 Sefh fagd sl
FgaEefer oT T 2
38.

Which of the enlisted compounds is termed as
slaked lime? EE

FAT T[T T AT 872

(a) Calcium Oxide /hfegrem SfeaEe

(b) Calcium Hydroxide /H{<3/aW gEeHAEs
(c) Calcium Sulphate [ Tethe

(d) Calcium Carbonate [T e

Ans. (b) : Ca(OH), 31T Hfeero FRSFIRE H T2

3T A Fed 2

o TG THANS 3 Ca(OH), 2|

o TET G AT BV W A FI AT § I BIehl 2

o SHHN ST hdl & forw foan e 21

o SHHT IYANT Haw ITAR AT ST & |

39. Which of the following is true about
interhalogen compounds? 5 =AfireRt &
R # frefafad § S-91 " 9o 87

(a) They have unpaired electrons

I U I e &
(b) They are highly stable /4 37efere fter &
(¢) They are diamagnetic /& it 2
(d) They are paramagnetic /& STTRIH 2
Ans. (¢) : T8 Mk FSrEH a1 &7 5hR & gelsH gid
g1 Serwr & fau gme getdde Aifet # aende
AL 3T FANgS e Snfiret 21
T FHUT H TRl He F SR W eiear Al
B TR JHR F i o gehd €1 9 39 TN 2
XY -3
XY ;-31eh
XY ;-31eh
XY,-31eh
. %@gmﬁﬁ@ﬁwaﬁmwwﬁm
|
o ¥ SRS M SH F Sl 8 €, i
I U a6 SIS SR THE WS 2 &
o T BARH AN T SR B9 § gHe
AT FAH 2|
Which of the following elements does not

belong to group 16 of the periodic table?
frafatea # W7 e 3Tad Wit ok

HUE 16 W Har-era & 82

(a) Oxygen /3= (b) Phosphorus /FHIE

(c) Sulphur /AeH  (d) Selenium /FafTam
Ans. (b) : BITHRY @ 3TEd IRV & TR 15 H
iy 8 Safh tfadior, o, Yolfam ered groft
16 § T 81 TOE Wg & AT ol wifesh o7 3
T O AT G el
41.

40.

Which groups of elements are called d-block
elements in modern periodic table ?

e @wult § ae & fRw wHE @
E-=eTTeh e hET ST &7
(@) 1t02/192 (b) 3t0 10/3T 10
(c) 3t0 123912 (d) 13t0 18/13 T 18
Ans. (b) : 3TgS 37ad 9Roft § 3 ¥ 10 a0 & H
d-=cTsh & 3Tl W@l T @ S 1 ﬁtzﬁs;ﬁmﬁ
@ T § HR 11§ 18 T H P-selsh § @ T @ adn
f-aeTleh 1 3Ed WO # F= A S R

42.

Which block elements are more electropositive
in modern periodic table?

ROt H ®H-§ TR ok ae
arftrer e §7
(a) s
(c) d
Ans.(c):WWﬁﬁ'&Tﬁﬂﬁﬁﬁd-ﬁﬁaﬁﬂﬁﬁ
FN IR G He e B 21 aved ol # i
T TH W TRV FAT & ST FT g @
g 8, a4 ol § SR § A9 T ) e
RIOT Sgel @ A1 FOT feRA RO T B

() p
) f

10




43.  Which block elements are less electropositive in

modern periodic table?/3TT&]

THIF-TT AT o qcd A fgd &FTeaeh 872

(a) s (®) p

(c) d ) f
Ans. (b) : 3Ed GOl § p-sash & dd TaH HH
U & i FEH AR T SuRYd el @
STH SO FEVT B 1 &Il e Bt | arere 3
et fed Foes Bd € SE s, d 3R f H S
YTqe. IURYd Bt HH FoiaEM @I A A S
2 ¢ THfeT & A fed e @ g
44.  The oxygen molecule is paramagnetic. It can be

explained by/ AT

TS 1 Hehell -

(a) Resonance /3T

(b) Hybridisation /He0T

(c) Valence bond theory /ey as fagr

(d) Molecular orbital theory
quTfersh shefta g

Ans. (d) : SASH 0] &1 ITRHE 0T A0S
Fefg Rrgr & SFHR THemE ST 9T 81 39 W &

SRS

o M wa] & gomeE faf wensl § Suled wd €
3% I TER o] H Torae fafer afias werel |
Jufierd & |

o 3UTH Ferhl H oiFe ol b ded gU HA H q=a
1 qaS fFH T gUe & f9H % IER R I g

RG]

o U HETh g &1 onfvas e H
TR & A A Y AR AR gR TdfEd B g
EEIED FEIF Thel HF BT & | U] Herh H

ﬁ%@m@ﬁm%wﬁﬁmél

o TS TWHI] F&F & fAUd FH0T & & TAM ® Tohd
2 3% 39 YR UF NiaE e § o faadd T &
A TR ® T 2

o 5 A FEH! H GASH R ST & q9 S0
FeTh a0 § S99 U I el onfvass et aen
@ T 9 el enfas FHerh wed |

45.

According to Werner’s theory of coordination
compounds,

o T ARl o THGTT oh STTHR—
(a) Primary valency is ionizable
i HET B |
(b) Secondary valency is ionizable
i FEE 21
(c) Primary and secondary valences are ionizable
i AR AT B
(d) Neither primary nor secondary valency is
ionizable /A @ Waftw R T &
HASTehAT AP 2 |
Ans. (a) : TR & THFF A0S g & IR MafE
FR fagm & s SR G 9@l
SR B & Sl f3diaes Gaieehar sredieor §e &
TR el B

T ||Ans. () : [Cr(NH3)6T+

46. Which of the

paramagnetic?
T q i 9T AR ST &2

(a) Hexa amine chromium (III) ion

B 3 It (100) 3
(b) Tetraamminezinc (II) ion

e (1) 3maa
(c) Tetracyanonickelate (IT) ion

SIS (1) 3T
(d) Diammine silver (I) ion

ERUARA fHeat (1) 1A

following compound is

SHITHE S STTRAER0T & +3 @
Cr 1 goaeif-a fa=ma L, Cr =[Ar]3d° 4s'
Cr*® =[Ar]3d® 4s°
[erviy), T = CIET B BT
NH_:\]HNH’-I'{H[.\JH‘- H,
\-;-'—\—.,___——"-/

d’sp” HeHT0T
o 3 ogfiid ToeeM IuRYd M % FRU T
ST TgfT T B 2

47.  As per Arrhenius Concept, Weak Acid among

These is__?/ IEURUN & 3N,
3OH ¥ gae 3 §7?

(a) HCI (b) HNO,

(c) HCN (d) H,S0,

Ans. (¢) : HCN-HCN T% 3ol 370 ¢ ik a8 ot |
s &9 T fqo & & d9r &9 7E1 § ggger e
I BT 21 SEs HCIL, HNO, 91 H,SO, Tt # quf
®q § foeia 8id & a9 Saer 9§ H e S
¥ 29fely HON s gaol ol @ Sef HNO,;, HCI 3R
H,SO, 9 377 BId &1

48.

As per the Bronsted and Lowry Concept, a
Base is a Substance that AR

LT o ATAR &R Fg varef 2—

(a) Accepts proton /ST TR BT B

(b) Donates proton /ST & LT 8

(c) Accepts neutron /=i iHR FT 8

(d) Donates neutron /=9 & &l 2
Ans. (a) : ST 3R AN FAURVT % ER &R I8
qard 2 € S e % SR FW § a9 o 98 gerd
2 S SieH i & B §

49.

Which of the following species can act as Lewis

Base?/ﬁ'ﬁﬁ’iﬁgﬁﬁﬁaﬁ?'{ﬁm@ﬁm
& B H e w qehet §7

(a) Negatively charged species or Anions and
Neutral Species with one lone pair of

electrons SHl T TH AP ML & Y
RS ®Y § A& TS0 a1 3AET R
EHEIEReSITe
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(b) Positively charged species or Cations and
Neutral Species with one_lone pair of

electrons / < * Teh bl Gﬁ@ F 9
YIS &9 ERM SenfeEt A1 e $i
EECIEREInp

(c) Molecules in which the central atom has
incomplete octet

77 e S ] # e7qul et g 2
(d) Simple cations /8{cT G IT
Ans.(a):mﬁ@mw%wm

®Y ¥ &M Sonfaat a1 e SR SISt qEh
IA % &9 H B B Gebel 2|
50. Which of the following_gases is not a green
house gas? bl ) -
T T\ T §?
(a) CO () O;
(c) CHy (d) H,O vapour/arsad

Ans. (a) : 7 EET WAE—9e F TS § BEl SR
o1l 3 gAY Gt B T e ¥ @b & fow 39 efR-
it fqehit foham ST © 9% ST A9 & a9 W@ %
forw gest W A7 @Sy ST & ArHfas Al @ i gt
# S & gRyof s 21 F9 g8y 19 S€-CO,, CH,,
I A, H,0, CFC 3R 31154 21

s1.

Photochemical smog occurs in warm, dry and
sunny climate. One of the following is not
amongst the components of photochemical
smog, identify it. T
3R gu arelt Sterarg # grn g, fafafaa 7 9
T WiEe T % uew § ¥ T 3,
TR ST H—
(a) NO,
(c) SO,
(d) Unsaturated hydrocarbon /3THg@ gESIHE
Ans. () : THTE THEAMNS e Th THR 1 a1 0T §
S Al % Ige S P el F S ¥ 3a
g @ Fes gt ¥ g & v & g e S
feereh SEOT o |
o I WM IS o9 Sl 6 NO, e & @
foreTeRt It Sffhel T A 2 |
o VIV TEERE g § g S TH AT O; TTHE F
&7 F g 2|
Which of the following statements is not true
about classical smog? WM & 91 W
frefefaa 8 & @i o1 waw uer @ €7
(a) Its main components are produced by the
action of sunlight on emissions of
automoblles and factories. /39% A& &
R FREH! F FEeH | G &
YR 1 3R @ 3e9= 2 £
(b) Produced in cold and humid climate.
3t R 3T Sy # Iefed |
(c) It contains compounds of reducing nature.

T TS SHA & AfE e §

(d) It contains smoke, fog and sulphur dioxide.

(b) Os

52.

UEH | 54,

Ans. () : BIEIHHFA W, FAMHHA T TE 8 2

TS HeH AR #i T % e W gd
& WIS T b W Ieg A B 2
53. Biochemical Oxygen Demand, (BOD) is a
measure of organic material present in water.
BOD value less than 5 ppm indicates_a water
sample to be
st femiz (Stamid.) wrdt H LIS
et Terel T TR WO §1 5 i & s
.3 a art & U @ SR T g
(a) rich in dissolved oxygen.

I ¥ R

[N

(b) poor in dissolved oxygen

H st
(¢) highly polluted. /3f¥ Jgfid
(d) not suitable for aquatic life.
S Sfeq & fou sugs T @

Ans. (a) : TAhHBA TFHSH ﬁrm's' (BOD) argsid
S il a0 ST gfer sifedis (DO) # AF 21
o fFet fo& MU S@ & T F Iufyd FEfAe qardl @
T Ffve T sty § R aee | ST B
% foTT Tt sTmawasar Bt 21
o BOD &l 31w Sifeeh S7afie g7 STt euer § 21
o 5 § BOD ST &7 8 98 31 & 9% gt 2
-wwaﬁrBODsmsﬂﬁaﬁq@méeﬁwﬁ
aﬁ%ﬁmaﬁwwsﬁﬂ

An sp’ hybrld orbital possesses
Teh sp’ HeRiUT haTeh o O BidT §—
(a) One-fourth's character /Tsh =teré 0T

(b) One-half's character /Ts 3Tt &1 07

(c) One- third's character /is foRTE 1 107

(d) two-third's character [a-foetg @ o7

Ans. (a) : 1QESp WW@%W@@M@W@%
%\sp heTeh ®s3ﬁ(3p$&ﬁ>’€ﬁ%

55. Which of the following molecules has the
shortest carbon-carbon bond length?

A fora o1y #Y wEA-wE
e Tl R Bt &2
(a) Dimond /&0 (b) Ethane /T8
(c) Benzene /siSie (d) Acetylene /Tfdfee=
Ans. (d) : TR 3] & FEA-FEH d57 q@E 9oy FH
§ T SO T sp & 81 T TH R S 2
¢ Sy SuRed B & | Ry sue & g o ded ¥
ﬁ%aﬁlﬁiﬁﬁsp W%%ﬁaﬁﬁ?ﬁ’ﬁsp
THOT B & T W H sp’ GHT B 2
56.

e

The nature of intermolecular forces among
Benzene molecule is AT

ST A T e S
(a) Dipole attraction @W 3T
(b) Dispersion forces /cTUST (ThetE) 57
(c) ion dipole attraction /31 @%ﬁ 3TN
(d) hydrogen bonding /ZESISH &
Ans. (b) : SN 310] St B €1 FHAE e fRy

T e, S T TR SRS A B

I BT @ 37 e 9 UMY B 7 |
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57. The resonance stabilization is highest in

31T TRerfiertur wad et g—
(a) 1,3-butadiene /1,3 FTEEA
(b) Cyclobutadiene /Fﬂ’s’ﬁ@l?@ﬁ

(c) 1,3-cyclohexadiene /1,3 STEFalgTFaTEET
(d) Benzene /asiA

Ans. (d) : S 3707 &l HTET

i # a1 Relior o aifrs @i 2, it st
# sp? HeRLUT B 21 39 W9 Ul sw-fgey @ @ 3R
Toft fgamr Tt 519 &1 & | T AR S BT g

58. Completely conjugated
hydrocarbons are called

qui: Y A WgfRTE BTG
FHETA &—

(a) Arenes /T (b) Allenes/Tei

(c) Annulenes/TTe  (d) cumulenes/IR[A
Ans. (¢) : TIAM & UUia: ©IFEd AEERies
TESIHEA Fad 2|

=

monocyclic

59. Which of the following is the most reactive

towards nucleophiles?
T ¥ i =AFTINEIZA o Ul Tod

arferen erfferamefier 37

(a) Acetaldehyde /TEefoegEs

(b) Acetyl chloride /TfIeTEd FARTES

(c) Acetic anhydride /Tf8fHh THRESES

(d) Methyl acetate /fRemgat wEee
Ans. (b) : afufspan t framefiar 9%
Bed & W W R ww @ e R s @
yaf arfes et @ SEel S & 3
gt oM ¥ T famed # tfieEs TarEs &
HRfpaTeier Tl e 21
60.

The modern explanation of the Markovnikov
rule regarding the addition product accepts the
stability of the intermediate

TNTTeHeh IeATE ok aiel W HTehfaf-renta e st
ameIforeh ST weTedt W Rerar @ wWiwr
AT -

(a) Carbon radical [T et

(b) Carbocation [T

(c) Carbanion [T

(d) Carbene /Fafg

Ans. (b) :

1 +
H;C-CH=CH, + HBr——CH; ~CH,-CH2+Br~
a

CH,—CH,—CH, +Br
2° ST
iR frem @ myfe e § e st
I 21 S S R FETEAER qiT ITE ST 7 |

61. The compound which can show both

geometrical isomerism and optical isomerism is

T difits St senfieta wHTEEEr o weRtiyTeR
THTEEET A T dehar 2—
(a) Maleic acid /AT a7t
(b) Tartaric acid /2R 3
(c) Propylene dibromide [ITA STESTATES
(d) 1,2- dibromo cyclopropane
1,2
Ans. (d) :

Br r
1, 2 S SO HEediod &l H;T@H R st
THEFET J2R1T e 7 |
62.

Optically active isomers that are not mirror
images of each other are called

JERTIITeh &0 ¥ WihT STEEmE ST Teh gav ol
U it & &, wEedt 8-
(a) Enantiomers /g
(b) Mesoisomers /e
(c) Tautomer’s [eerad
(d) diastereomers [erafefEmg
Ans.(d):@ﬁmﬁﬁ@ﬂﬁmm@%{
% w7 § dafuq 78 @ @, cafeRdmd wEen § S
ot =y 7 21
3QTEUT—
CH,
| CH;
H- C - |
| H- (|3 -Cl

(|3 -H H- ¢ -

C,H; C,H,

Cl-

63.

Which of the following objects is chiral?
frrefafaa & @ st ovg wete 2—-

(a) Hammer [edter (b) Ear /1
(c) Spoon /IHH (d) Fork /aieT

Ans. (b) : TH ST RreH wafuf qer suRe g 8
I A e A 2 FA H FE N GEHT ad T8 8
3 T W FEA e THd 2|

64.

The smallest alkane having a 3° carbon is
3° SHTelT STEAT Tord BT Todh §—

(a) Isopentane /STE@'&@:[

(b) 2,3-dimethylbutane /2,3 %Bﬁﬁl?ﬁ?{@?
(¢) 2,2-dimethylpropane /2,2 SRS
(d) isobutane /3113@3’{2:{
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Ans. (d) :
CH,

|
e 3YEHU="-H,C- CH-CH, - CH,

CH,
|
e 22 SEHIAET-H,C~ C —CH, - CH,
|
CH,
e 2,3 A a:i—H3C— CH - C|H—CH2
|
CH, CH,
e 3EHET- CH, — CH - CH,
|
CH,
3° ST el o BT Ueshd SEEET 21
65. Which of the following would yield a single
monohalogen derivative?

frafafas @ ¥ *®F-91 Tea TR
afea 3= &wam?
(a) Propane /I
(b) Cyclopropane [ETEFATITI
(c) Propene EIRE
(d) Propyne /STaTE

Ans. (b) :

NN

cl
Tehd & FARFIHT § FESISH Pl FAre g Sfereenfua
foFa ST ©, WISFANINT § Haet UF & THR & SIS
W%WWﬁm@aﬁmﬁWQaﬁ
3T 9T I

66.

The carbon-carbon_bond in
called

ST &

(a) sigma bond /fF7HT &Y

(b) Pi bond /9% s¥f

(c) tau bond /drZ Y

(d) delta bond /3T &&
Ans. (¢) :

VASERE'AY
TEFANTA § a3 5% IURed g 2|
67. The IUPAC name of t-butyl group is
t-SIeTeeT WYE T IUPAC =9 §—
(a) 1,1dimethylethyl /1,1 SEfHAEAZARA
(b) 2-methylpropyl /2-fremgeTsaEe
(c) 1-methylpropyl /1 emzesE e
(d) 1-methylethyl /1-fHargcgarsa

cyclopropane is
S I HET

Ans. (a) :
CH,

3

|
CH,4

Q ®|'

t-=eee i TUPAC M 1,1 aé&rsmsa's%nsﬁ 4

68.  Which of the following reagents would convert
1-butyne into 2-butyne?

F & I W1 AR 1-59eTET
2-SIETEH | URaETdd hiam?
(a) Ethanolic KOH, heat /uIferss KOH, 36T
(b) NaNHszH3
(c) Ammoniacal AgNO; /3TefeRe AgNO;
(d) Ammonical CuCl /3T e CuCl
Ans. (a) :

CH,

H

-C= (:H&wkl3

. .

~CH-C=CH—CH;- CH =C=CH
{KOH

CHy—C=C-CH, 20 CH; ~C=C-CH¢—CH; ~C=C=CH

TS KOH 1-592T8 Sl 2-=92Te # 5get T 21
69.

~CH, -

The presence of unsaturation in an organic
compound can be detected by

iiTeR ® e @t Sufeert

AT T ST Hehell §—

(a) Schiff’s reagent /1% 31ftretien

(b) Tollens reagents /2ieig e

(c) Fehling’s solution /g faemam

(d) Baeyer’s reagent /IR 31T
Ans. (d) : STEGRT F SufRafd # wheor R adem fafy
S A ST B, S F 1% sia G wiee &
fererr & 21

70. The index of hydrogen deficiency (IHD) of
benzene is

ST T ETgSe il Yerehieh (IHD) EIe 1
(a) 2 () 3
(©) 4 (d) 6

Ans. (c) : SO ST A0 T CoH, 2|

IHD = ZH(V2‘2)+1= 6(4—2);6(1—2) .

=3+1=4
a9 % fIT IHD 4 &1 2, 3, n % 3R T =fha
AT S|
71.

The nitration of benzene is an example of
SIS T TSI T ST 2—

(a) Nucleophilic substitution

(b) Nucleophilic addition/=fFerafth{ers ATes
(¢) Electrophilic addition/geia2iftfeiss armesh

(d) Electrophilic substitution

Ans. (d) : 9 HT ALSIF TH WHRES ToAaIlerS
foearaT Affshan €, ford wh s imEe e 1 ®
THA FT 2, IR BT W TF wESIoH R H AR
YU T[S S @ SR AL i S g 2
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@ﬁ“l‘l) [@(\IH Hﬂ}@% <« Cgllj
.
— ) +HB

72.  Which of the following represents

electrophilic aromatic substitution reaction?

fereTae STRITERET T W e §7
(a) Wurtz reaction /i'c‘i\_rf SAfufshan

(b) Friedel craft alkylation /Shi€el shIae ooty
(c) Kolbe synthesis by electrolysis
e

by

(d) Dehydrohalogenation /f€8 33 RIELIERY

an

Ans. (b) : WISA-FFH AGRA TH FE-h oA
st 2, Wsﬁ@w&aﬁﬁmqﬁwm@m%
WEA-HRT AR F & MAfd TR Teshoy 3R
TS ST 2

©
©

|
CH,-CH,-C
AICI,

—Cl

CH,CH,CH,CI
AICI

73.  Aromatic compounds burn with a sooty flame

because SATAT
Terd § wifeR—
(a) They have a ring structure
I U T o1 G 2
(b) They are reluctant to react with atmospheric

oxygen B
e F § e §)

(c) They have a relatively high percentage of
carbon/3TH HET T AfTIT e 21

(d) They have a relatively high percentage of
hydrogen

ST ETESISH 1 Nfae U 31 B
Ans. (¢) : AR FlfTh HIf@ & ol § Seid &, i
T e FI o deae B 8, T e K
ST T@ BT 2| W TR F HEge S a4 &
74.  The rate of nitration of phenol is
foReer ® ATge = X €
(a) Slower than that of benzene
IS & e | o
(b) Much faster than that of benzene
IS & g | agd o
(¢) Equal to that of benzene /aIsii F TR
(d) Almost zero /ATHT I

Ans. (b) : SAFRIhleeh SfeeamaT fufsean & wfq i

AT 1 el s s i 81 R R
H S & 3Thell Sl gode & a9 ¥ 1 & 9ni
SR T S A% S 81 7 R F A A qer §
st rffsmamstiet a=mr 2|

75.  which of the following does not produce a white

precipitate of AgCl on warming with alcoholic
silver nitrate? k)

Teer ATEeE & W1 T &= WX AgCl T Hthe

ATAT ST TE AT T

(a) Allyl Chloride /TfeTel FNIES

(b) t-butyl chloride /t-=I2TEd FANEE

(c) Benzyl chloride (AT FAZS

(d) Vinyl chloride /A Tger Figs
Ans. (d) : [T FAREE T QT T2 <1 2| i
Cl €% F W sp> THRA HEA F JeT g3 2| WC-
Cl a4 T 594 8, CI 3R 37 sAMT gfvehd 2|
76.  Which of the following will react with water?

T | B Ut k| sriafswer
HOM?
(a) CHCl, (b) CLCCHO
(c) CCly (d) CICH,CH,Cl

Ans. (b) : FARA (CL,C-CHO) MY & T Sifufshar Ham
3 FARE | B1EST T 2|
Cl-OH
[
yei-C-e -H
||
Cl1-OH

- AR g I fheq (a) fozm mar 21
77. Reaction of ethyl benzoate with an excess of
Phenyl magnesium bromide in dry ether and

subsequent hydrolysis produces
Tk 3R W fRAe Tifem s @

STfreReT o WY Ufaret sisiie @ iR s
iR FrEEAfad & 91g IATE 9= g

(a) Benzophenone EEIETIC]

(b) propiophenone /SIIAA

(¢) Diphenylmethanol /STgWhferaemTe

(d) triphenylmethanol /ZTSHemI=Ta

N e o
CIC-CH=0+0OH H

Ans. (d) : TS ITTE § Th ST MITh T (BhaTHD
g @ %, 3R HfeieREm dee T A
afpres § S fFeraifhiers & ®9 F FE w2

T BRI AiMEE ue deite % TR
fopaeTeh W W g S 2
0 Oj

|
Ph—-C-0-C;H; +{Ph MgBr—— Ph - C_KS_C-‘HS
Ph

l

0@

| 0
of

q
€— Ph-C-Ph+PhMgBr
e l}l__()

@g@

Triphenyl methanol
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78.  which one of the following compounds is most
readily hydrolyzed by Sx1 mechanism?
frreafafaa o -4T AfieR Sy1 9 g
HEd ATETHT & A TuEfed giar g
(a) CH;CH=CH-CI  (b) CH,=CHCH,Cl
(c) (C4Hs);C-Cl (d) CeHsCH,CI
Ans. () : Syl ufrar &1 -FEifRor =xo1 § FEtheA
1w @@ g, for FreteEE s
FrEEAE B qe § iy Rer @ €, S # mefs
(TR fyermeet) FETEAEA & o § S e Rer g
gl aﬁzg-rﬁwwaéwgsmaﬁqmaﬁaﬁa
T 9 7

Cl

Ph

+cf
Ph

2
(Weak base) Ph

Ph Ph

.

; oy

71 o 1o |
Ph Ph

Benzaldehyde reacts with PCl;s to give

ATeEaTEE PCls ok | TRATRIT ohleh ot &—

(a) Benzyl Chloride /398 FANIEE

(b) Benzo trichloride IEE] g'lga?ﬁﬂ%_é

(¢) Benzal chloride /A9/d1 FANES

(d) chlorobenzene [FAS T

Ans. (a) :

Ph
Ph

79.

|
C—H CHCL,

S

Benzyl chloride
59 Felfceeee PCls & @19 ifufhan & 2, @ soet
FANTES BT IcAE &I 2|
T:- AN §R IR &Ghed (a) AT T B
80. Methanol can be distinguished from ethanol by
AT ahl TAAT T T feRAT ST ekl §—
(a) Sodium /Tifszm
(b) Lucas reagent /g 3TfhHe
(¢) Tollens reagent /Ziei=q 3TfeHtich
(d) I, and NaOH /I, 3 NaOH
Ans. (d) : B SR 3T F UH SATSIHE TR0
ZRT 3Te far ST 8, S@ g3t S NaOH &1 3ufefa
¥ o & o T fpar S 2, dier 1 S steew
ST 2, ifeh AoTel STEeiei wlerr w8 Zar 21
81. Piperidine is a/qTgURIST Teh SSTEUT §—
(a) homocyclic compound/@MTETAFre ifiTeh

(b) heterocyclic aromatic compound

(c) nonaromatic heterocyclic compound

Ans. (¢) :

H
TEuifed uH R AR s fAuwase @i 2
82.

Ethyl amine can be prepared by the action of
Br, and NaOH solution on

ferm =ifite WX Br, 3R NaOH foreram &1 feram

T T RIS TATE 8 feRan s #)

(a) acetamide /TIZTHIES

(b) propionamide /RS

(c) formamide /HHHEE

(d) methyl cyanide /MoEe 9rEAEs
Ans. (b) : BT SRS AR ¥ WEAERES w5
ufye AR # gRafdd e ST wear 21
BB SmmES Afufhar § 1 Ped WA FH O W@y
Mfts THART I HH F fIC Br, /NaOH & S1fifsan
fepam ST 21
CH, — CH, —CO—NH, + Br, + NaOH — CH,CH,NH,

e T

The aromaticity of the following heterocycles

follows the order/f=AfeTRad
TR SR T STTETUT et §—
(a) Thiophene > pyrrole > furan > pyridine
AR > TR > T > TEiEH
(b) Furan > pyrrole > thiophene > pyridine
REE > TR > GG > JRieE
(c) Pyridine > thiophene > Pyrrole > furan
A > aEEE > wEid > BEE
(d) Pyridine > furan > Pyrrole > thiophene
TR > B > TR > qReE
Ans. (c) : st &t T HA-
TEIEH > TG > TEd > T
TS F WEARS T kT 6n ESEHE D
SAEvaHal Bl € 3N FE gHder o ggfing off e 2
WA § 4n S B €, 3R ARSI W gARE #
TF WS TWHRH A HA F faw 1 F @y oA §
9 A g1 g wElEE, wela @ qoe # s
e g 2

84.

83.

Which one amongst the following compounds is
the least basic? Eack:)

TaH wH T g

(a) Piperidine /95T (b) Pyridine /faRfed

(c) Pyrrole Jie IR (d) Quinolinef%ﬂﬁﬁ*ﬂ
Ans. (¢) : T ad # 3 F qoT § 9 A g
TS H AN W] Th WAl gerd 1 e g
St 5 o= Aifes § Ao WA # A TR s

(d) acyclic compound/THTfFTH RIRED

1 9T TE 2
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85. Which of the following compounds gives a

secondary alcohol upon reaction with methyl
magnesium bromide?

T ¥ A @ difie T

fifyam saEe & Wy iR R W

Teefiorer sreeiger <ar &2

(a) Butyl formate /sJZT8 BT

(b) 3- pentanone /3-42HA

(c) Pentanal /2Tt

(d) Methyl butanoate /fHaTger E{ZFI}'IE
Ans. (¢) : faEd AAREY dMEe & 9y fufha 9
W UTd UF fdias fohied a1 8, Hifs HrEAe
Afufspar A FoH i e # WY gdEs 4@
feiere areshiget <ar &1

8}

(8181
I
CH,—CH, ~CH. —C— H+CH; Mg Br— CIL, - CIL, - CH, - ClL, - € -~ 1

CH,

86.  Which is not present in Grignard reagent?
o i Tiee TE &
(a) Methyl group /fHeTEe HHg
(b) Magnesium
(c) Halogen /&
(d) —COOH group /~COOH ¥Hg
Ans. (d) : —COOH ¥g firie sifueds # ANE 8

%lﬁmﬁaﬁm‘mﬁﬁrm Ffferm ik 2T
scrﬁaﬁﬁ‘m%\

87. Which of the following compounds does not
give a tertlary alcohol upon reaction with
methyl magnesium bromide?

¥ wmE 9 dies  fremse
Tfifyrom smEe & Wiy rfufsREr W W
Jlioeh 3reehiger el T 2
(a) 3-methylpentanal /3-fHemgerdeaa
(b) Ethyl benzoate /TfIe sSiiue
(c) 4,4-dimethylcyclohexanone
4, 4-3TeH;
(d) 4-heptanone /4-R=TAH
Ans. (d) : 4-8CAH faEd THREE SUEe & 9y

T STehiedd T &1 €, it Bree Sffhar wHasr
e @ fgdigs oewied sHM & faw dem &
TfeeEEs § ARFMTIREH 2AEe ST S & |

88.

The protein which transports_oxygen in the
bloodstream is/d&

AT T TREET hiaT &—

(a) Haemoglobin [Erarefa

(b) insulin /3@'%’17[

(c) Albumin Wﬁ

(d) collagen CAGEE]
Ans. (a) : A1 & PIRTHST & S ATl 370]
st o § SR @ T ﬁam@mgaﬁm

hhel § gad & a1 SR W@ aledei § A & 8,
R o B R IR H 9 e S 2

£ % fou e &1 79 35.53 9 41.22 %aﬁa@wsﬁaﬁr

89. The secondary structures of proteins of silk

and wool are
Yo 3R = o W o feteres deeETd -
(a) a-helix and B-pleated sheet respectively
AT q-Bfiey SN B-wieE e
(b) B-pleated sheet and a-helix respectively
HAT: B-wleT e 3R o-aferey
(¢) Both o-helix/@t o-afcTsd
(d) Both B-pleated sheet/3H1 p-wiee Ifie
Ans. (b) : WH 3R I & g @@ & 19 &
oo S § powiRE vie (SEATR powide wie)
3R F F f5cias 9w § U STew i (aife SR
o-2ferr) & fafifa g 21
90.

Formation of soap from a fat by reaction with
caustic soda involves

WIEH |IET o WY A(ARAT Hlch Tl o

Tre fermtor et &—

(a) hydrolysis/gggifafag

(b) polymerization/‘:ﬁ?’ﬁmﬂ

(©) Esterification/TR Rt

(d) condensation/HerquT
Ans. (a) : FH TS I TfeIT TSRS do/ad &
T R X eeeiared sffEar ¥ TeRar 8, RR
ARG T ST &, R T 3 Ferier s 31
91. Turpentine is an essential oil obtained from

AR Teh TTEveh 2T § S W gl §—

(a) camphor tree/sHhqL bl g

(b) Pine tree/ds A ag

(c¢) Lemon tree/:ﬁTsL F Ug

(d) palm tree/aTs &1 U
Ans. (b) : TRAHT FT a1 S & U a1 TS 9 I o
% AT Y T AT T e 21 3H SuANT e

R e SeRa U= & &9 # fha e 2|

92. Among the following which one has the least
iodine number?
AT T Tl T §?

(a) Sunflower oil/ @ T
(b) Corn oil/Feg I T

(c) Gheessit

(d) Peanut oﬂ/ﬂ""l'%?ﬁ FH A

Ans. (¢) : ﬁﬁmma@@ﬁ?@w%

™ & o

sitgd W9 38.69 BT 7, 3R
30.34 ¥ 36.48 Bl 7, e

93.

9 & 0 § e
34.10 B 81

Which of the following gives maximum energy
in a metabolic process?

@ SuTeES UiRenr H
TR Siatt e B2
(a) Carbohydrates/?ﬂﬁ?@'{
(b) Proteins/SIE
(c) Fats/a&1

(d) Vitamins/fa2Tf=
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Ans. (¢) : fFE oft 311 <19 3107 &t o § T STiEt ¥
Sfead ST W @ ST GHAT 8, fHdl o 9ive ad §
el 3H% SFIEHT & WA § B 2

94.

The polymers that cannot form intelzmolecular
hydrogen bond are/d

FIEGIA o1 e ST Hehel &—

(a) Nylon 6/ 6

(b) Polythene/aferd =

(©) Proteins/SEH

(d) Nylon 6,6/AF@ 6, 6
Ans. (b) : Tl & 58 difer 2, Rrad swaenfvas
TSI T & I bl ¢ |

nCH, = CH, — {CH, -CH, 3},
ERIHIGE] BlGIRE]

Among the which
homopolymers

frafeafiaa & & w9 91 T Uit §—

(a) Bakelite/shelse  (b) Terylene/2fef

(c) 6,6 (d) Neoprene/ﬁﬁﬁ’mﬁ
Ans. (d) : AHE e oRftafedt @, oiferessE @

g 3 el e aret ifer o €1 g9 uifer &
T, IR & THR M &F MR T for
&1 T & FRR H HH A § aH A agAh

95. following one is

The catalyst used in the manufacture of
polyethylene by Ziegler-Natta process is .
fsmer Arer uithen g wiferefim & fmior &

TR S

(a) Triphenylaluminium
tetrachloride
TEHAUAfET R e fEn ZeiNEs

(b) Trlethylalumlmum and titanium tetrachloride
EAUR I | B Rl R A T D B | RS

(c) Titanium dioxide/TTeTaw SE3tTFES

(d) Titanium isopropoxide

and titanium

Ans. (b) : STeR-TE IBRE H AMAR W IEefEm,
Sifeem, Ffvm, frEfEE s g uigell &
FETh SRafea, v &9 ¥ tehEd it
ﬁwmﬁﬁwm%aﬁﬁwﬁﬁél

TRURE wegHifem dur erefEm dTrEe (fmer-
T SHTE) TH S & e S -
HyeAwor & g 21

97.  Which of the following is used as defoliant?
frrafefaa & & feraent suamT i & ®U
T fepam ST &2

(a) Gammaxene/THe

(b) DDT/EERT

(c¢) 2,4-dichlorophenoxyacetic acid

2, 4-SEFARBAFE IS s

(d) Acetylsalicylic acid/tfeordfefifers e
Ans. (c) : W@&%W%Wﬁ@?ﬁmﬁ
gfar A geH & fou fewifodey &1 = &9 9
YA A S 21
2, 4-SEFANGAFITEE Tys 991 TE F1 WA ¢ S
g@ﬁgg@mﬁﬁﬁﬁﬁ@aﬁﬁaﬁﬁwﬁ@aﬁw
HT 2|

98.

Which of the following is not a semisynthetic
polymer? T | i ar oref

g L &2

(a) cis-polyisoprene/f@ﬂ-qﬁ'ﬁaﬂs@fﬁ:{

(b) Cellulose nitrate/ﬁﬁ?ﬁﬁ H‘I’:{@Z

(c) Cellulose acetate/ﬁﬁ?ﬁﬁ wEee

(d) Vulcanised rubber/aighd &R
Ans. (a) : fog-urcfismeania ts o1 fiafes sgas T8
8 e 3 T o Ridfe e
99.

The commercial name of polyacrylonitrile is

T ehel T2 TgeT ShT SATEHT eh T8 &—

(a) Dacron/Ssh

(b) Orlon (acrilan)/3TREA (Tfshel)

(c) PVC/dtdtr.

(d) Bakelite/doheTge
Ans. (b) : UTEHAZEA B AEHIS A LA
(THe) &1

CN
af CN |
) s sars L CHy - CHy,

A 91 (ufsherT)

100. Which one is acidic dye?
I | 3T STk §—
(a) Methyl orange/ﬁﬁl?f RS
(b) Methyl red/fromza I
(¢) Phenolphthalein/STehafe
(d) All of these/a Tt
Ans. (d) : TS € U YR & fHafes
T S fafee diefm fiedt SﬁT HeRl
foTw fopa ST #1 3 47 AR A & o #
R T T Y AT WH WA

o ol Tl I T el fRorar we @ Al gl
fRertan sz 21
. ﬁéw%ﬁqmﬁﬁﬁwm
|
. %g%ﬂgﬁ%@ﬁ%ﬁﬁﬁw
|
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Tergr Teramersr udrar aftrfa
Hreatieh 9187eh UTSIar Utell Bihar STET-2020

LU IPERCEIEEC 54 B4 |

[18.09.2020 Shift-11T]

SITEAT Aied g Y-

[4.00 : 6.30 PM]

1. ""At the same temperature and pressure, equal
volume of all gases contains equal number of
molecules. "This is based on which law"?

“gu 99 Ud g W TG o 9He 1ga
T orupedl &t @& @uE gt ¥ O wed
fera frem W smenfa 272
(a) Berzelius law/ssiferag &1 fam
(b) Avogadro's law/Tat 1Tl?ﬁ & gReeaT
(c) Grahm's law/IT@H 1 fom
(d) Charle's law/aTed 1 fzm
Ans. (b) : TAITE! & R shedl @ 16 T d9 Tg
gﬁmﬁiﬁ%wwﬁmﬁﬁmwﬁﬁ
|
2. 20ml of CO is exploded with 30 ml of oxygen at
room temperature. Which of the following will

be the volume of gaseous mixture after the
reaction?

20ml CO T 30 ml STFATT & ATA W &
ATUhA U1 feremie e ram AfafsRan & o
— firgror et IEEe freferiaa ®§ i Bem?
(a) 50ml (b) 40ml
(c) 30ml (d) 70ml
Ans. (b) :
2CO + 0, ——>2C0,
20ml  30ml
T& W CO T dmr 31fpdes 81
2ml CO, 1ml O, & 1fufshar & 2,
20x1
2

3d: 20ml CO =

=10ml O,

1 g3 O, = (30 — 10) ml
=20 ml.
e 2ml CO. 2ml CO, &I I HLT 2|
31d: 20 ml CO, 20ml CO, T 3R HAT|
i ST F AR = Vo, + Vo, (T 83
=20 +20
=40 ml

3. The size of nucleus is in the range of which of
the following?

TR @1 MR fafefaa o e & I o
grar €2

(a) 10 °m (b) 10 *m

(¢) 10°m (d) 10 "m

4. At high temperature and law pressure, The
Van dor walls equation becomes

3T 9 TS T a0 0T 1 X aA1ed |HiaRuT
B ST R

(a) (P+%)(V):RT (b) PV =RT

A%
(d (P+%J(V—b)=RT
Ans. (b) : 3= A9 T 97 T@ W I ST dTed FHHOT

PV =RT & Il 81 Fifsh, S=a a9 iR 7 &@ o, b
F qor ° 'V T 2

(c) P(V-b)=RT

aﬁI'P'ﬁwﬁ% e 2,

31§ PV = RT & 9&cT 9T 2

5. If AS for an endothermic reaction is positive,
then the reaction is feasible

Tfe weh IO SAfufeRaT & T AS T W
TSR &, F 98 SARAfehar Tve 81
(a) When TAS>AH /S@ TA'S > AH
(b) AH>TAS/AH>TAS
(c) At all temperature/94t Tl I
(d) Non-feasible/d9a & &
Ans. (a) : A SIS AfufFaT % foaw wrdt & afada
(AS) THNHS B, e THedt qiad= (AH) T & aawe
T W i 2 a, sifufsean doa 21
AS =+ve
AH =+ve

AG = —Ve%ﬁT %,

3Ad:

@k AH < TAS

6. For which of the following gaseous reactions
K,=K.?
frrefeafaa et sifurferenstt & form erfaferan
" K=K, §?
(a) Ha+ 1,
(c) PCl3+Cl, PCls

2HI (b) 280,+0,

(d) N,+3H,

280,
2NL;

‘Ans.(a):WWWlO’lsm%fﬁﬁﬁﬁTél ‘

Ans.(a): H, + [, 2HI

79 sfufan § K= K, &l
K,= K. (RT)*"
Fie An =0, T K,= K,
e An>0, 7 K,> K,
e An<0, 7 K,<K,

fear o erfufsrar &

2HI

H,+1,
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